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Abstract

The horizontal and pitching motions of variable tuned liquid column damper
(VTLCD) have been explored through a series of dynamic component tests in this
study. An empirical formula of the headloss coefficient for practical engineering
design of VTLCD has been propoesed based on the Wu’s design formula. In
accordance with the theoretical derivation results, the headloss coefficient of VTLCD
is proportional to the cross-section area ratio (£), which is consistent with the
experimental results of g =1. The modified Wu’s empirical formula proposed in this
study takes the cross-section area ratio into account and integrates the three empirical
formulas as a single one for the cross-section area ratios of £ =1,2 and 3, respectively.
In the case of f <1, the experimental headloss coefficient is not proportional to the
cross-section area ratio (£). This result may be due to the size effect of the
scale-down VTLCD system. The liquid motion of the scale-down VTLCD is
influenced by the boundary layer flow and the headloss coefficient predicted by the
modified formula will be underestimated. Moreover, the feasibility of wind-induced
vibration control of VTLCD system for a 31-story slender building structure has been

confirmed through numerical simulations. The parametric study results indicate that



the control effectiveness of structural displacement and acceleration increases with the

blocking ratio and the optimal control performance is achieved as the blocking ratio is
80%.

Keyword: Tuned Liquid Column Damper, TLCD, Cross-Section Area
Ratio, Blocking Ratio, Headloss Coefficient
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PATE R BHEASHE - B2 AR AN EFEE - kBT
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PAEE AL 4 1.0 22 0.5 5 TLCD 4 %2 4R 7 ¥ B & ©Gao[39]% Chang>
Hsu[40]8]:& {7 TLCD % %tz E 1" 2 8EK 247 TG e o o
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TLCD 4 & ¥ »t & & 2 ghe & (757402 5% o @4 *b > Shum & 4 [44]R]3% )
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JRIPET o R R F 2R A Rl L ARTe niEET > 55
NN g R [52-53] 0 AR 5d ¥ TLCD i sz ke g3 m o
VTLCD & Sz [ER 4 BT e b g1 v 5t i & Wu evREE4E 4
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AEoRA R k2 TR

2.1 £% % TLCD % 3L & & 423

U 4] & o 33 38K 4) &t % 3u(Tuned Liquid Column Damper, TLCD)

27 % Bl4c®B 2.1 fror o 2 HiFED S AN 2 A AR AT !
(1) % TLCD # /& % FI-k-T3E 6 (u) (e P& o> @ fiigcdf 5 (%) > 0 iz
PR R A @ TLCD KT A B B, F8 3 % &
| X I<h, —B, (2.1)
» h, : TLCD £ % £ 2xk & o
B, : TLCD/RT 2 & & -
(2) % k) * PR .
(B) #» A2 TP iTo
peeb s s s ik (a)(b)s B 0 TLCD i 3820 %5 it (Kinetic Energy) » T >
% & 4 =it (Potential Energy) > U » ¥ & B|3- 5 4o ¢
T :J‘m AX 2dx+'[ —pA)'( 2dx+j pAu 2dx+j —pAu 2dx
dl . W2
+J.0 EpA(xf +U,) dx

1 . 1 . 1 i
:EpAsz(h/—Xf)+5pAXf2(h/+Xf)+EpAUg2(h/—Xf)

+%pAng2(h, + X )+%pAd(>‘<f +U,)’

= pAX’h, +pAL'Ig2|‘\/ +%pAd(>‘<f +ug)2 (2.2)
h,—x; h+Xq d 1
U= IO ,oAgxdx+j0 ,oAgxdx+jO pAg (5 thdx

1 1 1
= E,DAQ(W ~X )’ +5PA9(h, +X; ) +§,0A9dBn

-7 -



- pAg(h +x,2) + 2 pAAB, (23)

p kR AR

g:E4 i B

U A KT

A :TLCDU 7| ¢ 2 £ & ##

X, ! TLCD #-% Bk g if = 5
d : TLCD -k T g %k &

#deae 2 £ 4 an o~ PRS2 4758 (Lagrange’s Equation)4e ™

d[@TJ oT LU

dt| ox, | ox, ox
a6 i ik R 2l @ e L il Lm0 ) T AT R
Xf
d(aT X ’
EL@TJ = (2pAn, + pAd)X, + pAdi, (2.4)
f
ou
= = 2pAg% (2:5)
f

preb s kx4 2 d By & (Oseen)ut W g 3¢ 5 (Stokes) T
[55,56] %74 2. = f278 4c 2 ® » B ¢ Al F)5E K745 4 (headloss) T A 2

ZUER A 5 EIER A B2 R R T AT AT

0= (2.6)

o

1 .

Q:—EPAﬂXJﬁ @7
e o5 LoKEEINA ik

1457 (24) ~ 2.5)2 X (2.7) ) 7 £ 2 TLCD i b2 86 3 258 4o
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| O )
(2pAh, + pAd)X +E,0A5‘Xf‘xf +2pAgx; =—pAdl, (2.8)
MR8 LR IR FEMAN P 0 T REE S5 TLCD 2 p R4 3

w(rad/sec) 5 :

_ 2pA9 | 29 09
2pAh +pAd  \2h +d :
£ L,=2h+d > BIXQIYT £ 7 5

o= 2I__g (rad/sec) (2.10)

e

2.2 #%5 VILCD % 38@# > f250
Al = BV Wrol 9 ok ke & $i(Variable Tuned Liquid Column

Damper , " & #§ i VTLCD)Z 7 & Bl4c®] 2.2 #775 » # KT B £ 5 f# (A) &

LE LR G (A)F R EIRIEREDLT TR R
AX; =AX, (2.11)
_Ay 2.12
X, A (2.12)

B3N A B B AA 0 7 VILCD kT Bym iz jmid
Ay 2.13
X, A" (2.13)
A,

L p="v 2.14
A (2.14)
Al % = A%, (2.15)

#e

A,:VTLCD %2 52 # 6 #



A, :VTLCD -k T g2 # 6 #

X, : VTLCD -k - B 45 i =ty
B ErH
%%rm VTLCD % %2 # it (Kinetic Energy) » T» 2 & 4 =it (Potential
Energy) » U 355 4o
T=] —pA,szdx+'[_me %pA,)'(fde+ I:%pA,ugzdx+ j” %pA]ngde
¥ deEpAq(xﬁug)zax (2.16)
#(2.15)5 £~ (2.16)5 7 ¥
T= I —pA,szdX+.[ pA szdx+j —,oAvu 2dx+_[ —iju
+ deEpAh(ﬂxf +ugdx

— PAX( =) S PAKE( )4 pALR - X,)

+2 PAG (N + x4 AR )
= PAKCR + pAUL A, +G) (2.17)
—X; +Xg d 1
U :J.Om pAvgxdx+I0m ,oA,gxdx+J.0 pﬁg[g thdx

— PAG( =X, )"+ AT+ X, + pAgdB,

1
= PAIMN — %)+ pAgdB, (2.18)
BB b A 2 R E 4 a5 R0 2 4258 (Lagrange’s Equation)

dfar
@t %, =(@2pAh, + pA L)X + pAdl, (2.19)
oU
= -9 X 2.20
o, PA X ( )

B2 AT A MR BRe ETER AT AT
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—LpASR? %50
? (2.21)

Q=14
5/?'%55%2 X, <0

2 2EiET AV A AT

He(2.15)58 1%~ (221)5% 0 Rk sz
Q= ‘%/’Avw\’(f % (2.22)
1995.(2.19)(2.20)5% £ (2.22)5% > 22 = VTLCD %k 52 i # > A28 4o

(2.23)

| ol N
(2pAR +pASAIK: += PASS | [ +2pAGK =—pAdl,
(2.23)3% B VA FE R b 38 (T A 1502 4 7 $18 VILCD 2 f SRR 645

% w(rad/sec) 5 :
- \/ 2pA9 \/ 29 02
2pAh, +pApd 2k, + pd
F L=+ (2.25)
29
= T (rad/sec) (2.26)
o 1|9
e T 227
2r 7w\ 2L, (H2) ( )
VTLCD 2 f X488 ¥ 4 7 5
Ten (2.28)
g
Gz ER RN TR ESE - pd Bk

et > g¥s VILCD
ek Rz S T g ek R PG (L

Moo HyRd i LR
Bo /KT o fF)B e gt oh > 4875 VILCD & SeFfe 4 22750k

L
~— =S

e

PR 4 (lcE nAlyRiE ehT 2 4 B o @ @REe VILCD k535 — 2hais
ek % A B - 2 fRATHESY k LR ETH VILCD k52 # 5 F e

{7
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23 VTLCD ,: 3% g 2_ 38 6 3 250
Al % %rm VTLCD *z## + (pitch motion)i& # 2_ 7+ &, Bl4c B 2.3 #71
Higd > el 2 fa 4o o
Gz Fa To 2 £ 4 e UA W28 40T
2

—p(h+x )Av(xf +%0’zj2 +%p(m—xf )A,()’(f +%dj

1

+§ AVJ.

yohle .2

)°dh

N e L oA
1 . A2 r2d 1 . 1. .
+EpA]d (,fo —yoa) +I_2/dEpA](|a) dl +5Jaa2

~ A+ S| 4 pAG BN 3% ()]

+2 PAR (% - i) 4= A (gj +29, 0 (2.29)

U =,0Avg(hv—xf )[S cos(6, +0{)J+pAvg(h/+xf )[SZ cos (6, —a)]

+ pA,gdy, cosoz+%Kmoz2 (2.30)

Nl
A=

Yo © M 15 % ¢ s ] VILCD Jk Stk T fLd w2 e

St LI EREY I pE R o L B

Stz EERRRY e oY w2 e
a : VTLCD % 22 i &

RS S B VR S -5 I

/7
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S (:05(91 +a)= S cosé cosa—SGsing sina

=(y0+h’2_yjcosa—%sina (2.31)

Szcos(6’2 —a)z S, cosb, cosa+ S sinf sina

:(y0+h’+yjc0sa+9sina (2.32)
2 2
AI(2.30)5% & B 50 AT 0
U = pgAhY,cosa+2pdAh Y, cosa + pgA, (h,2 + sz)cosa
+poAh, sin0(+%K0[0¢2 (3.33)

Mo is 2 F 4 i R PR BARARN o I 4o N

doT

Ea_pﬂ(2m+ﬂd)xf+,0A/d(h,+y0)& (3.34)
%%ﬂp/\vgxf +p9Aha (3.35)

T2 AT A LR Gl R B2 R 4 o AT T
1 .
Q=—2 PASS[ X, (3.36)

(2207 ~(233)8 2 (236) N A NP H WA A2N T F S 2R

B A EE S AR AT AT
oo o
(2pAh, + pA,Bd) %, +EpAV,85‘xf ‘xf +2pA 09X,
=—pAd(h +Y,)d - pgAha (3.37)

R] VTLCD *2& w2 p X475 o(rad/sec) 5 :

a)z\/ 2PAY _ |29 (rad/sec) (3.38)
2pAN+pALd | L

VTLCD *zfw 2. p RIHFHF £ 7 5 ¢

-13 -



2.4 f247 #5050

(3.39)

d (223);8 7 40 H%e VILCD % 3tz  FER I8 42 228 > A< ddp

A 85 & B % (State Space Procedure, SSP)[57,58] > i 1 * 1% X i #2 (¥

VTLCD 2 jii# X, 2 AR 810 X, o &2 2 347 3 N3P 4ofs

F L #-VILCD % sez i@ # > 4258 (2.23) 4 7 & ¢
MX(t) + Cx(t) + Kx(t) = —Ew(t)

Ho o,

X=X 5 drz e QG ER B R E -

Wit)=uU, =3+ mE ;
M=2pAh,+pApd 5 i« L2 B E et
C=%p&ﬁ5\>‘<f\ Lk sz R AR
K=2pAg & 42 & RAEL
E=pAd & 4 SLZ2 e 4 ﬁa%’_.’fg’ﬁi ;
QA0)K T R R Ao L

2(t) = A'z(t) + E'w(t)

He

[
A0= mﬂ

aonxlz ki B (s Epd B K3 n=1);

. 0 I
A = -1 1
-M"K -MC

-14-

(2.40)

¥ £ ),

(2.41)

(2.42)

(2.43)



% 2nx2n 2. % BLAEE

. 0
B = {—MIE} (2.44)

® 2Nx14fd 4 o feaptl o

#4242+ 4 £~ # 3 (Laplace transformation) ¥ ¥ :

2(s) = H(9)z(t, ) + H(9)G(S) (2.45)
d4e

H(s)=(sI-A")" (2.46)

G(S) =E'W(s) (2.47)

2(t)) F AR o
B4 % 5N (2.41)2 2T 5N (2.46) 8 NQ2.47) B H b % i i T pF
BT
2(t) = Wzt )+ j; e “I[E"W(r)]dz (2.48)
LN (248)7 2 AN W) PR N R S vz S
Bood 3R 4 A BB S RITIE > FM BGRIE R Solic S g gk
RARPE o Lt =(k-1At > t=kAt 2 ZK]=z(kAt) » B

KAt=7 V\,[(k—l)At]+#W[kAt] (2.49)

W(7) =

He 5 (k=DAt<7<KAt ©

AR BN Q41)2 2472 T B N (2.48) % N (2.49)1F - BATER L
VAR A Lo

K] = Ak —1]+ E,Wk—1]+E,WK] (2.50)

A= 5 2nx2n 2 BT b AaEE

-15-



1 .
=[(A)'A+—(A)*(1-A) |E
% ) +AJ ) ( ﬂ
5 2nx12 W B PE LA PE T 4R B 4 A frAErL
* 1 * *
E =|(-A)Y"'+—(AHY?*(A-D) |E
| P )+m()( ﬁ
5 2nx1 2 (S pRpF e pr P 3R B 4 4 friEiL )
VTLCD #: 4 F Jls2_ #4745 Fpeipl 40T

(1) B3k VILCD * % Kpipr2 R M & & 3 X, =X, >

1 .
(2) 34 C=—pASS[X,

RO QAT R BB A E
VTLCD 2 i B F % =X,

|2(Xf i Xs k)|

B) ziFLer=
‘ ‘Xf,k+1 +‘Xf,k‘ ‘

(4) £ 334 e o e <e s Bl X, T8 S TR 7T - papE L
F A o

(5) Fer>e o BIL % =X 1. B ~@)L Hler<e s b o

2.5 %1% X VTLCD i 302 3 3 423

Hpd ASHEE VILCD i stie (7 sl 2 A 47 2o f 2.4 91
oo w SR A EE IR AR TR AR S - 4P
AW &2 KT Rl 24 x, 0 VILCD & AR| Flgfidrda & 4 - Rt
F X, o PR R i A R8T VILCD KT BT
B, X3 HEFWLELFAHZ U 4ot (2.1)#7m o VILCD #41% 4

ZFa o To¥BES =5 U » ¥ A W E 40T !

216 -



h 1 . h 1 s h 1 L )2
T=[ pAx it [ JpAxdx [ pA (x40, ) dx
1 L\ 1 . o\ 1 S
+Imxf5pA,(xs+ug) dXJr_[:EpAq(ﬂxf + %+ OX-+—my (% +Uy)
B o v
= PARK + pAR (K +0, )+ pAd (%, +% +1, )
1 L2
meoy (2.51)
U —Im_xf xdx+jmxf xdx+jd ] dX+lks ’
=] PAg . PAY o PAY| 5B, 5 5%
1 2 1 2 1 1 2
:EpA/g(h/_Xf) +EpA/g(h/+Xf) +5,0A19d9m +5ksxs
2 2 1 1 2
= PRGN +X)+- pA B, + kX, (2.52)

#2510 & (2.52)8 & r PP s S A2 N b

dfor | o ou
R - —_ + —= Ql
dt{ 0%, | OX; Ox

atlox ) x>

d(oT) oT oy _
O%, 0%,

or ot _

Fldeoa LRz Jillkc, B dcagh Tl ——=—=
OX;  OXg

0 o A

44 P .
pd fé?fg .

1\3

df oT

;" a]:(2pAvm +pASd) %, + pAdS, + pAd, (2.33)

das
dt | ox,

j = pAGK +(2pAN + pAd+m) %

+(2pAh +pAd+m)i, (2.54)

u

-9 2.55
ox, PAGX ( )

Y _kx (2.56)

B BH2 LR da AR A AL L 4 Qv

17 -



WREZHF L Qo ﬁ:ﬂ&?/ﬂ\ LI L

PRSI} X >0

Q:1
EPA/ﬂ5Xf2 X; <0
BT 4T
1 .
Q == PASS[ X, (2.57)
Qz = _CSXS (258)

#42.53)7% ~ (2.55)8 2 (257N & M p WA AR N 0 AT o

2=

(2pAN, +pASd) %, + pAdK, +%pﬂvﬂ5 %[ % +2p A0,

= —2pAdil, (2.59)
3L s (2.54)5% ~ (2.56)58 & (2.58) 570 7 BT

PALX, +(2pAN, +pAd+my) X+ + KX,

=—(2pAh + pAd +m)u, (2-60)

FH#H2.59)58 2 (2.60)5% 1B FE R A w2 RIE 4 T F VILCD #4184

2_38H 3 A2 N AT

{(2pA,f\,+pAWBd) pAd fo}{%paw\xf\ oi{xf}

pAd (2pAN +pAd+m) || % 0 o |U%

2pAg9 0 |)X 2pAd )
T 2.61
{ 0 ksHXs} [(2PAV|1,+,0A1d+mS)}u9 (2.61)
;}ié ’
X SRR RAPETE A28
m S HTE

C, ¢ HHRIA

-18 -



(S 3 =

2 HH2.61)58 & T

MX(t) + CX(t) + KX(t) = —~Ew(t) (2.62)
;E! ¢
M {(2/3&% +pApd) pAd
pAd (2pAR, + pAd+m)

e L, e s 2 .
ER IR ?ﬁ:‘%*ﬁ'"ﬁ ;

1 .
C= Epp‘“w‘xf‘ 0 Aok L2 JER G
0 C,

_|2pA9 0 PR LLTTE
0 | ° s

S

2pAd =
= oz ki Ed e g
{(2pmm+p/xd+rns)} e

k& G ARX 4 S ul[59-61]% % » * 11 8 Ef/é]éﬁ# 2 3R
TAEF R R WL B4 B A T 2L R a VILCD sz @H > 42

g ARX G S| E o F B AUKTIF A Al MU o
SRR A GELZ BT BRI R N 0 v H - @?J »~-H - %J
(Single Input Single Output, SISO)e i 5 b » 7 AL o = 258 & 7

/. .
-

y(k)+ay(k-1)+...+a, y(k-n,)=bu(k)+buk-D+...+b u(k-n,)

(2.63)

-19-



W)@%ﬁ&uﬁﬁ&’aSéﬁﬂme«&’n1? "R
u() A k2 B s o BSE O UEL g n, S R A
195 ARX HCF| 7 ie - H & 7 5 ¢
y(k)=¥" (k)0 +e(k) (2.64)

W7 (k)=[-y(k-1)...-y(k—-n,),u(k)...u(k—n,) | (2.65)

=[a...a,.h..0, | (2.66)
Hoeoooe(k)m &g o @ ¥ B H 5 R 5% (zero mean)2 v 230 (white
noise)

U * Eaw 35 p|3E £ /% (Recursive Prediction Error Method) » R
B E k A e vhir AR e
0(k)=0(k-1)+L(K)| y(k) )0(k~1)] (2.67)
,‘E: ¢
P(k=1)¥(K)
L(k)= 2.68
(K= 7% () PR =) P (k) (2.68)
P(k-1)

P(k)= 2.69

(M) = i+ ¥ () P(k= 1) (k) (2.69)

k(K)=rxx(k—1)+1-x, (2.70)

K fi % & X F+ (forgetting factor) » i ¥ # * x,=0.99 K‘(O) =0.95 -
¥ E A4 iE 2 P(0)=10° ~10" 12 4e i H o acig B e

d SR B e ST M o ARk sandc it ik S

8 WF P E BRI R LA ST

-20 -



(nr,) +¢; @.71)

£ =— in(r,) (2.72)

j \/(m ) +¢

He o At ZPHRE

2 D 1[I(PJ)]
r“-=PPj,¢ =tan” | ——= | ;
j i i R(PJ)

Piriasiti 555 T2 % j BAFHT -

fj =—
27At

Ao rr b2k SRR P T KB g uTe VILCD f Sez -REgdp 4 0%
oo A M-RETH VILCD 52 386 2 1255 (223) % 503 % 1 pA B
B A

—(4h, +2pd) %, =4gx, - 2du, =ﬂ5\>'<f\>'<f (2.73)

H¥ o X 5 VILCD 2 i f 4t » 7 o k% 3+ £ 8 o & w3
PERHCA — %823 = 0 @ VTLCD. Stz i it it (X, ) 2 i siipeif 4ot
R (KX)o 20 (273)5 Sar kAL TS K v
ZAN

y[k]=—(4h, +28d)X%, —4gx, —2du, (2.74)
PI2.73) A F 4 7 4o T

y[k]{ﬂ\xf\xf]&zf@ (2.75)

Hoe

v =B

0=5

(2.75)7 7 17 (2.67)7% ~ (2.68)7 & (2.69)7% 2 vhir 7 p3E 4 i3 k9 &

-21-



- BRpFz k4 $dk@ > 5 VILCD % 3i2 -KEEdf

f3
=h

L4
A

VTLCD & oz = pl2gsde * b wen jF 3u] & 2 i

2R ERAR A Tl

-22 -



Bsd
i
el

BUTE ARG N AR FHRE LS

3.1 %% % VILCD £ -KE4 £ 7 2
Wu[51]44 4% %75 TLCD A JR4F F 36 T oidk 12 55 k41 4 ik
SR WAEPEEF G M LA
5=(0.6 +2.1p") " (1-y)” (3.1)
He 5y 2 VILCD3'r 2z fE R &K o
d % %5 TLCD & %% 5 VILCD 2. 28 %= 4 (2.7)5% % (2.22)2 +* f& >
%% e TLCD ¥ %475 VILCD, fezhifst 4 382 & £ — B &6 v (B) 0 F
GDAF BT 28 4o
5= p(~0.6p +2.1%) “(1=y)” (3.2)
BA=1PFF > TR A Urg 2R 0 Sk K gl o5t By
o2 A%d gEra o (B)4 55 0315061522 35 #7514 5 0.6Hz ~
0.9Hz~ 1.0Hz~1.1Hz 3 1.4Hz’ Fo % A B 5 0%~ 20% ~ 40% ~ 60%%  80%
EEETREEEPER
R P ARE ZHY% e VILCD 2 *# #- 8 (pitch mode)% -k T i&
ot A BRIGE 0 DR B R A G2k SR R R R LKA
A BB A 2B g% e B EEET > $% 5 VILCD * %5

W(B) A 1 BRI DT AN EREE ROKEEAR 4 (lio fR g o) 3 | pEAE

-

B EER% A B oo 3R TLCD & $vz -KEgdp % Gl 5% - %0
EETG b W N RS g e B Rl 2 ¥ - e v 03]
2 fx =<t VILCD #-3]ig 7 ~ # Rl » ¥ &) ©  VILCD #4138 5% 2

B EAI R AR 4o 3.0 % 340 AR flcded 3.0 % 3.6



3.2 VILCD = i 2 73| % %

A k53R 2 VILCD ~ 2 #4 > A &d BA 1 cm 2 R4 ke
SO HAY AT R RREEF 2 o P e TS kR
SRECSELNEE L R FE R VILCD i % i) A ahp ok
¥4 o VILCD i Su3tkT o 2 32% 00 L A4 e & C 3 & & Fastdmds o
AR O MELTRERY AL BRERREY o R F PR AL
VILCD ~ it -8 v & 2§ » F 8 BT (7 R s i 2 9
fgzo

VTLCD *g4 + 2. %5 fe & B ¥ VTLCD % so% %2 %E & 4 2.65m
2 4B S LA B S RS R G pdk 2 ek e

ARAR 0 BRI S T e BT R IR

5 B2 - BRI LS RE F 0 R B3 b4 e (TR

E’

B2 Bk e e B%k2 Lwpe § ol 3.5 fror o

3.3 #%K REZEE
VILCD kitz ~ @2 il ~ F3 AR R TR ~ 2
PAERAIT Hghe k RHHIRE 022 o WRBHRFRY ZPH REXA
RGP 4o
(1) » RiEsRd o
FHEA REDEY 0 RE RN ERE T 2 H R 0 ik
Bk Bt BT AR R s R REE Y
SR T E R L S F R RERRR 22 Sg f
hoB] 3.6 47 0 dRE S 2 TR G St B R A FETE 10t
b o iad - L RRE B Se 0 HE K (TS HI2.50cmo B 4
@RAEE Igo

_24 -



s 52 ¢ FRT A B AR Y MTS 407 32418 4oFl
3.7 #7m 2 A FIEC iR E oo Bl g 0 255 KA T
Az REBFERes 407 4 EM A AL BV &R B8
p: SN ) 4¢3 54,}9‘»3@»;'#“%%"@%11'! ’?ﬁ°bﬁ3¢l._p%’?i%])‘ﬁ“9q‘r’
B sl TR A0 A o

Feds S5 ST AR kY LR IMC 2 2 47 2. 1 -Musycs
Joso BV R PR R 32 BARE c BIMT O E T EER A TN
EES R E S R Lt SR LA Lt ¥ A
B) R®E
R BN L ZLS B AR B dl A0 %A
HERY 2 p 2 if e R BHEE L Y L AT
(4) & & izfet

T A 4ol 3.8 Mt e f £ RFF 2 Scm I 35em(:15

cm): H 3 & 5 FRIVILCD & 555w 825k ¥ irz £3 =8 - 2%
KE G AT Egrel o (FE TS ELEEH T T Pl

2 =45 o
(5) A B3
A BI(ARC 27 4 2)3 & p] VILCD £ 8 2Rl =8 -
he®l 3.9 #77 & 4155 WHA-600(30512A)2_ it % 3+ - # & Bl B 5 130
cm; ¥ - 4 A5 5 WHA-800(30512B) 2 it % 3+ > # £ #l§ B 5 £40
cme #hk B2 A B FH 2 UA VILCD = # 2. &3 foo i 88 VTLCD

B2 R ALE T RAR

3.4 #FH%RAE]
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o 18 PR Pk 1 & G| (T VILCD ~ #ple 2 &~ »efy - By f2
b TAF B R 25V (3.2)8 R ere VILCD 2 i * # 8 o & 5%
2 %IRRT S A7 F 2+ VILCD i suenis 5 8 REF4F X Thfics
23 THBARFRE o

3.4.1 -k TE# VILCD )% 3uz A 2 g3k

VTLCD % %2 =~ (2 p2E 8 4R $ 5% VILCD =~ i i& {755 16 J2 85 >
Tk BLER w2 R N w] IR RERAE A Thlic o IR OREEAE A Tl ¥y
B v (B)2 [ Bl th o

A TR = 03120612 %2 32 VILCD & {7 ~ 2 #% >

A ficde & 3.2 3 3,60 A R REN & £ 45 VTLCD i sz kT
w2 Sk e R ERAR A TR B E Sl o SRE wm ¥kl ~ VTLCD ¢ p o i@
R B REDAATE KR 0 AR e Mid R LR R
AR U Al g R 2 18 R B B4 B~ R 0 2 kT
L IRMFE dom o F - Rt AT TP HM S 4 B 5 0.6Hz~0.9Hz ~
1.0Hz~1.1Hz % 1.4Hz % 5 f84f Sovb 2o fi sk 4B 8o (L o~ 2 2 o
dod 37 97F) 0 EANEMF LR RIS 0 (#HA RIEEF2ZILrRE
MR ERR(RE A B L HIEEF L 0%(2F)~ 20% ~ 40% ~ 60% %

80%2_ 34 v 4) o

3.4.2 *%giE 6 VILCD i st2 = i )38

A& BIF VILCD i 530 KT 2 S o 2 152 T > KE
WA a2 £8 > B AR 5 E R 2 R L BB U v 2 7 O
% o VILCD 2 *g v i85 201 15t R&HBH 4L FRMES 3om Y > »
WL o R R &GS gy~ o AR5 D & AR VILCD % %

%?4‘%6' 2 EH TS R ETe Y 123 2 VTLCD 27 ~ i+ 3#5% >
-26 -



@?J »HE

T b 4w 5 0.4Hz~0.6Hz~0.9Hz~0.95Hz~1.0Hz~1.05Hz~ 1.1HZ ~
v

10 FEAE S 2 i 3
S LA g k2

1.2Hz % 1.4Hz

=L

Loy

,ﬂi&ﬁv ) TN L HE LR 2 A

I E AR T R

3.4.3 $¥5 VILCD 2 ¢ + % Bid%
E’%i\j\éfé Z_ 127 BF#F%IQ‘& ,‘Eﬁ; _\‘,./\lm,_/r—r

BEHRHRE R AP A RRE SR AL F=0312 %] 2 <
(7 Rl B3R B VILCD i stk T2 2 iplidda e o

3.5 BB EE

3.5.1 kL FH VILCD #% 5 %

B 3.10 X B 3.15 5 VTLCD 450 & A fedf #0947 5 9 (8 2 i Wi i 245
BP¥ o [F] 3.16 2

BEHA 0 EEAEE 44825 VILCD 2 fi 2 4= 647 % (OF

b =1.0) » iR Al e A A AL

HP o 3lr > afFin(fez F 0%)
ToRBZ TS EFTE2SS5ome SEEIL Y AR S A S o R
T g2 R 80% 2 ik faipr F A5 R 5 7.5cm e

7 7 ‘;P#F_{ I&ﬁ'{
AR EOE 2 R SO

fe g 5
k& & # VTLCD

e
REEIE 4 Gl B R KA 0§
#E K A81T VILCD p RirdeAf FpF > REpdp 4 Glicr e g 3
I AR IR A i deeh

% 3.8 [§l 3.17

N SEE
,§1§

RS S
BE2
RGBT SO R A BB L 4 0 J VILCD &
Bh S M RERAR A Thlicy g 2 AR o M Y 5 BT A
B AT T HEGH L BRI AT S BRI MG R
* - § #(Osborne Reynolds)#7#& 1! 2. § 2 #c[55] :
Re=ﬂ

(3.3)
y7i



Re  § #%#c(Reynolds Number) ;
: # 12 & K (Characteristic Length) » #p* % 77 VILCD &8 E ¢ /T ;

ook B A R

E'I ?ﬁ'{\? Kﬁ""‘”"gﬁrFr}:&P‘j% :;Hi%é {%7 LL]E”:,E':IH‘/"%‘% :;
(1) % s~(Laminar Flow Regime) : Re <2000 P » it 88 2 2k 22 i = T

:Ii?‘,i}ﬁé; o
(2) @& % (Transition Regime) : 2000 < Re <4000 °

(3) ¥ /i(Turbulent Flow Regime) : Re>4000 > jit§8 2. 3kiF > Jig /| *+ 47

Z 411 VILCD i bk it £8 i 2 i B ER DL AL

2
Bw: ¥ RiidiE R L 20C P2 & 4 R & L002E° N-sec/m’ » i& {7 7 ¥k
238 HEERKT G EEE I 0.6 BFL R F RO 20
A ERE 2 O3 3N B Yk o (Laminar-Flow-Regime) » 3 /48> & ik 5T
BRF A4 2 PRI PER > FIL R A GROCNEERPFE T BB
2 AR > DB P E LT R 39

dR 318 2 BN o KFFI A RBEEF IR IR e D H e &7
Hi4eit v e ¥ 4 VILCD 2 3f a7 5 o

Bl 3.19 A 23RAFT > 2 o v 2P FHARE A A i B
B HE%Mr o KEFL GHRKETFE V2810 F993F o FUE
%75 TLCD 2. % Siadw| KEg4p 4 fics A% > Blore 1o <30 1 % > HokEg
A GBIDE AT R 2 ST L B IR R o

B2 CREEAE A B (32)N R a2 BB BT e
320 77 » HERE T o F ¥g b A3 1 B Az JREIT A Rie

by L AN\ \ o2
B N A
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FOKEA A B T A NHA IR K 0% A E (32N Y F e
EHy=0&0r 0 plo=0 LRFRFH A GEOFFRE LT HEET
P AR R R ARG KT RS LD R LD S R
B RF A B ERRG Z T EFIFIOE N KL o F PP g
TR S 5 0%PF > REEAFA Rl 5% o

KEFAF A BB I O S ONETR Lo L A 2 AR R Y R
RESB FR2ZRFeE (DR B & RG 3 - Fi02 RH AR5

‘131

iéjgl‘é%\afj\gﬁzfﬁﬁ}{’\%ﬁ ’?'{"‘iﬂﬂ g?;}ﬁ'lﬁﬁ'{gﬁét,rﬂw%gﬁ.‘i

VTLCD *t#5d 1o 50 1 PR 20K EF4F 4 2 B4 5 () kA 22 T

P o d TR E Y 0 AN VILCD »t 2 JRAFF T 2 jnfginds
A m 5 Fono wd 3 R & sn(Boundary Layer Flow)2:#4 7 > fi7:8 B (F

BE)d SIRARARF 4 (PN S B A LB T L B AR
RF S o o] PR RARAR R RS fp P AT -
B 3.21 2 B 3265474 Fragss VILCD A i EoH P 4 g

i

diEd S RN Y e R IR RO R e R B R A ]
REFF SRS F 2 0 FREEF SR OIEL S X R 048R #R
oo BRE A 2 0 VILCD & se X R d T 2. 44 jF e Bl FobpReE G o

3.5.2 %4 iEd VILCD 3% % %

d B] 3.27 % Bl 3.29 &t 0 VILCD k 5u3t % g v 25 2 e g if 4R 15
EREFEEF 2 en EHE > Y PEEF ARTIFEIPF O R iLK
FrREH~ -

Y E s TLCD (R Ef4F 4 fadicz d S| k4o 310 #rm - B 2 %
Bgo o VILCD *" %2 e 2 R T 2 -REFHF L P B 7 o g F I v frfe
B2 ke VILCD i Suz -KEgdf 4 fhfiem ¢ F = > gt &
LB
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19 E[53]d %45 TLCD(B =1 )it 2 7 5 4k 1 2. 155 2

5= (0.31//+3.61//1‘1)1'05 (1-p)” +4.5 (3.3)
$%r5 VILCD(f=2)%fm 2z 5523\ 4
5=(025p +3.20") " (1-) " +6.5 (3.4)

$% 5 VILCD(S=3) %l 2 s >N 5 ¢

5=(0.52p +3.4p°) " (1-y) " +9.7 (3.5)

B 3.30 2 B 3.32 & %] % (3.3)5% ~(3.4)5% 2 (3.5)58 2 7 5 B &AW AT
Ez REFAFAEF R BB R 0 02 BN F N B R

2 KEEAE A el o B TR L B(B)IB I (3.3 W

5= ﬂ[(osw +3.6w“) 4. 5} (3.6)
% A1) f l‘.zu;ﬁ\‘vv'J X éé :III BF#F% ,&ﬁﬁ:b"i —\.(3 6) ;\lﬁif—? Ll

Foo AR 2 $¥re VTLCD g = 2 R4 GEE T SN2 i@
7Ly Lo

B 3.33 % B 3.36 5. VILCD )t s eitm sk z EFw B H 255
T RMEFTEHSEFEEI om0 0 AL 4 RINEIEE S A m W
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0% 25.22 9.22 7.65 7.00 5.80
% 3.9(a) /] © 4 VILCD % 5.2 3 %#( S=0.31)
A @ el
g 5 0.6 0.9 1.0 1.1 1.4
80% 1076 8547 13736 17334 7950
60% 1183 8787 21518 22116 8129
40% 1124 8727 | 22714 | 23550 | 8667
20% 1154 8607 | 23909 | 24387 | 8667
0% 986 9325 |- 23730 | 24806 | 8547
% 3.9(b) % = -} VILCD & stz % #48c(8=0.31)
A RS
fe g 5 0.6 0.9 1.0 1.1 1.4
80% 5828 40346 64255 67244 | 39151
60% 5678 44381 91900 94142 | 40197
40% 5230 44979 100717 | 100119 | 40645
20% 5828 43335 | 105797 | 103406 | 41841
0% 4483 45427 | 104154 | 103107 | 39300
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% 3.9(c) /] & <t VILCD % %2 3 #%%( 58=0.6)

g 0.6 0.9 1.0 1.1 1.4
80% 897 6396 9803 10759 | 6814
60% 1016 7770 16079 | 16617 | 7173
40% 956 8010 19127 | 19127 | 7292
20% 1016 8010 | 21219 | 21219 | 7412
0% 897 8129 | 21877 | 22355 | 7711

% 3.9(d) % © 4 VTLCD i %2 % 28 8=1.0)

A 7 el
L 0.6 0.9 1.0 1.1 1.4
80% 3586 | 19426 '[r 23909 | 25702 | 25702
60% 38854 | 28093 | 48565. | 49462 | 32277
40% 5529 | 29587 | 69635 | 66497 | 33622
20% 5230 | 29139 | 85325 '|" 76359 | 34070
0% 4782 | 28392 | 92498 | 82187 | 34369
% 3.9(e) * & 5 VTLED /% %2 7 #3( 5=2.0)
A 7 el
e g 5 0.6 0.9 1.0 1.1 1.4
80% 1494 7173 8816 9414 | 14345
60% 2182 11058 | 17035 | 18231 | 14047
40% 2690 | 13299 | 24955 | 26001 | 15690
20% 2540 | 13748 | 30484 | 30783 | 14196
0% 2540 | 13299 | 32725 | 33622 | 16139
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% 3.9(f) + &~ VILCD % %22 3 #%#(8=3.0)
e & i
LF 0.6 0.9 1.0 1.1 1.4

80% 747 3736 4931 5230 | 6127
60% 1494 7920 10610 | 11058 | 8667
40% 1345 10460 | 15840 | 15690 | 8966
20% 2092 11945 | 19426 | 18828 | 9713
0% 1943 13449 | 21369 | 20323 | 10460

% 3.10(a) VTLCD *2df % ** &

(=

CRRER TR 2 R ERAR A Tk
t < A=1.0)

KA 4 GH 6

Hp 5w 0.6 0.9 1:0 1.1 1.4

FE S | arulE | ERE | BuE | ERE | BuE | ERE BuE | FRE | BuE | FRE
80% 87.69 85.30 84.61 85.30 88.47 85.30 93.25 85.30 | 116.14 | 8530
60% 37.30 19.02 24.93 19.02 24.15 19.02 26.50 19.02 50.29 19.02
40% 31.05 8.56 15.45 8.56 12.51 8.56 15.05 8.56 36.74 8.56
209% | 2584 5.53 12.79 553 8.96 5.53 2650 5.53 33.03 5.53
0% 26.06 - 11.70 -3 7.56 - 93.25 - 30.83 --

(= ®

% 3.10(b) VTLCD 8 & 3+ 4 sz w

-t £=2.0)

| RS ESN ‘TF—#F% % H

KA 4 GH O

g 0.6 0.9 1.0 1.1 1.4

FE RS | #uliE | FRE | BuE | ERE | BuE | FRE | BuE | FRE | BuE | ERE
80% | 143.10 | 170.60 | 149.96 | 170.60 | 156.64 | 170.60 | 162.94 | 170.60 | 197.03 | 170.60
60% | 4516 38.05 37.88 38.05 38.46 38.05 40.86 38.05 63.82 38.05
40% | 2897 17.11 19.91 17.11 18.80 17.11 20.80 17.11 40.91 17.11
209% | 2351 11.06 14.50 11.06 10.20 11.06 11.54 11.06 33.47 11.06
0% 22.43 -- 13.38 -- 10.40 11.40 - 27.58 --
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% 3.10(c) VTLCD *ci¥ %

SR

B s AT 2 R ER AR A e i o
(* =4 B=3.0)
KEFAF A O
Hp 5w 0.6 0.9 1.0 1.1 1.4
FREK | BuE | FeE | WU | FeE | BuE | FeE | BuE | Fee | #uE | feE
80% | 207.64 | 255.90 | 219.87 | 255.90 | 21897 | 255.90 | 234.09 | 255.90 | 298.52 | 255.90
60% 54.12 57.07 49.69 57.07 51.07 57.07 56.03 57.07 81.90 57.07
40% 31.71 25.67 24.00 25.67 23.94 | 25.67 25.87 | 25.67 43.33 25.67
209% | 2553 16.59 16.49 16.59 15.21 16.59 16.35 16.59 32.65 16.59
0% 22.18 14.21 12.60 13.46 28.10
%0301 2 Ak k2 LB F AW
9 18 F A (%)
L 0.6 0.9 1.0 1.1 1.4
80% 55.9 28.1 11.5 4.1 0.1
60% 56.5 40.2 | 31.5 23.2 12.6
40% 59.9 NG AN | | Ba.7 14.5
20% 62.6 459 | 359 24.0 18.9
0% 89 . 2.0 N 2 - 1= 1338 16.0 | 20.5
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% 4.1 $£%6 VILCD = i 2 3% 2* £4(F ¢ 4 % a * £=0.31)

SLELN =]

2% 2 4E & f(Hz) 0.31

% »c& A& Le (m) 5.32

23 o4 2k A h (m) 1.63
kT gg 2k B d(m) 6.6
VTLCD 2 & L (m) 7.1
VTLCD % & H (m) 3.8
VTLCD % A& w (m) 1.6
L L¥e f A (M) 0.79
kT B ETR A DA (M) 2.56
A ] 0.31
3 %A B, (m) 0.5
kTER R B, (m) 1.6
VTLCD % £ A t (m) 0.01
K3tk ® & h(m) 2.43
e W (k) F £ (ton) 19.49

% & SLEE (ton) 9.8
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42 WRZER20 AE R R L RS
% ¥ 4SS (H i)
BHY-RETE 584.1( ton—sec’/m)
BHF-REIER 44.8( tf —sec/m)
BHEY-REPR 2145.1(tf /m)
BFHF - REEY 3.27(sec)
BHY - REMRF 0.31(Hz)

# 43 %% VILCD ** 7 3t v 45 2 pirscE

BRERCH | BHETRSEAR

L 5 (%) | 37 TR E | 307 TR E
(%) (%)
90% 7. 12.4
80% 9.1 14.7
70% 9.0 14.7
60% 9.0 14.7
40% 8.7 14.4
20% 8:5 14.1
0% 8.6 14.2

% 4.4 %%75 VILCD B B % - %8

B R S ie
Rt S P AR X 0.13m
et E R AR R X 0.25 m/sec
= T#%@%F Bk ei® R OX 0.042 m/sec?
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# 4.5 k2 37 F (S 1)

%R ¥ i=f w4 FR EEHF R 4 3R 4 FE W R A= Ll

BR

0 e o v g P K c
@)
(kg/m®) (KN/m®) (N « sec/m?) (m*/sec) (N/m) (Pa) (Pa) (m/sec)

0 999.9 9.806 1.787E-3 1.787E-6 7.56E-2 6.11E+2 204E+7 1403
5 1000 9.807 1.519E-3 1.519E-6 7.49E-2 8.72E+2 206E+7 1427
10 999.7 9.804 1.307E-3 1.307E-6 7.42E-2 1.23E+3 211E+7 1447
20 998.2 9.789 1.002E-3 1.004E-6 7.28E-2 2.34E+3 220E+7 1481
30 995.7 9.765 7.975E-4 8.009E-7 7..12E-2 4.24E+3 223E+7 1507
40 992.2 9.731 6.529E-4 6.580E-7 6.96E-2 7.38E+3 227E+7 1526
50 988.1 9.690 5.468E-4 5.543E-7 6.79E-2 1.23E+4 230E+7 1541
60 983.2 9.642 4.665E-4 4.745E-7 6.62E-2 1.99E+4 228E+7 1552
70 977.8 9.589 4.042E-4 4.134E-7 6.44E-2 3.12E+4 225E+7 1555
80 971.8 9.530 3.547E-4 3.650E-7 6.26E-2 4.73E+4 221E+7 1555
90 965.3 9.467 3.147E-4 3.260E-7 6.08E-2 7.01E+4 216E+7 1550
100 958.4 9.399 2.818E-4 2.940E-7 5.89E-2 1.01E+5 207E+7 1543

# 4.6 VTLCD =%

ARG (ERTCM®EZ B4 A 8%

Bk BE 0.009cm

MAX MIN

X #h # & (kgf fem?) 45.82 -44.01
Y #hi 4 ® (kgf fem?) 18.37 -14.30
Z #hk 4 B (kgf fom?) 28.00 -22.17
XY & ¥ Jis 4 @& kgf /om’ 24.95 -51.4
XZ & ¥ 4 & kgf /om’ 52.61 -50.42
YZ & ¥ 4 & kgf /o’ 2.38 -2.30

Von Mises stress 91.14 --
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2473 v FEER 1o EE K 118 %

Bk FE 0.009cm
MAX MIN
X #h i 4 18 (kgf /om?) 39.15 -37.25
Y #his 4 & (kgf fen?) 14.63 -14.66
Z $hj 4 & (kgf fon?) 33.55 -34.31
XY & ¥ &4 @ kgf /om? 32.97 -52.14
XZ % ¥ 4 @& kgf /om? 42.99 -50.95
YZ % ¥ 4 & kgf /om? 6.31 -6.87
Von Mises stress 90.57 --
% 48 %% VILCD #4(5K A lecm)®258 2 4 A48 %
A E 0.002cm
MAX MIN
X #hJis 4 fE(kaf [om?) 45.40 -46.65
Y #hJi 4 @ (kgf fon?) 19.88 -38.42
Z #h + 8 (kgf fom?) 34.85 -77.36
XY & ¥ i 4 @& kgf /o’ 9.44 -11.85
XZ % ¥ J& + i& kgf /om? 20.51 -29.20
YZ & ¥ fi 4 & kgf /om? 6.88 -10.97
Von Mises stress 40.23 0.0018
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A A
8,6 - 1
- 2] @
Tl/\wﬁz# o
[ e ]
| | o
‘ ‘ B- B
’ TLCD filFIp
8,6
|
[ e1e] 1 o]
| 100 |
r 1 F ’—\—[‘, .
A= AT EI"_ - M
B 3.1 VTLCD =~ it 3% 2B &5 » £=0.31)
16,8 1

120

‘ ‘ B-BE[TIR
’ TLCD T [ i

I Il [:0:] H’lf:i\\
1 100 1 R
A=A HIFI ftor =
Bl 3.2 VILCD =~ i 2% 2358 (] & <t » 8=0.6)
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Actuator }H H|i
T S ) |
3004 el ji:
i R
L3t T
: 5 A
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g :
301 196 7 !
MR EERE & LR
Bf7:cm
| 301 -
T T 1 7 UT_;--I,Jj—-rH.__ |
Jg\ ; #_} r/ [____Q
BB s Al
S RS S iR ]
{7 cm
Bl 3.6 = 52 %2t @
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Slushing displacement Xf(cm)

---- Analytical
— Experimental

(@) Blocking Ratio = 0%, 8=154 2

---- Analytical
— Experimental

(c) Blocking Ratio = 40%, 5=1410 |~~~ ‘Analytical

3 — Experimental

---- Analytical

5 — Experimental

---- Analytical
— Experimental

0 5 10 15 20 25 30 35 40
Time(sec)

B 3.10() /| ¢ < kT & VILCD 2 -k g if =4 i ph
(45 %11 =0.6 > £=0.31)
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---- Analytical
(7) Blocking Ratio = 0%, 8=24.5 - E}{pgrimemm

---- Analytical
(b) Blocking Ratio = 20%, =242 S Expeyrimental

---- Analytical
(c) Blocking Ratio = 40%, =256 —— Expertimental

---- Analytical
(d) Blacking Ratio = B0%, 8=28.1 S— E}{pgrimemm

Slushing displacement Xf(cm)

---- Analytical
— Experimental

0 ] 10 15 20 25 30 35 40
Time(sec)

B 3.10(b) | ¢ kT :E# VTLCD 2 -k $rijcif =4 fr i
(45 %14=0.9 » £=0.31)
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Slushing displacement Xf(cm)

(g) Blocking Ratio =0%, 8=13.5

---- Analytical
— Experimental

--- Analytical
—— Experimental

---- Analytical
— Experimental

- Analytical
— Experimental

(e} Blocking Ratio = 80%, §=28.0

---- Analytical

— Experimental

0 ] 10 15 20 25 30
Time(sec)

B 3.10(c) /| ¢ < kT & VILCD 2 -k g if =4 fr ph

(% =1.0 » §=0.31)
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Slushing displacement Xf(cm)

220 1 1 1
0

(&) Blocking Ratio = 0%, 6=9.5
20r

--- Analytical
— Experimental

_ED | | | | |
a

---- Analytical
— Experimental

--- Analytical
{c) Blocking Ratio = 40%, 8=11.7 — Experimental
20r
I:I U
-2':' | | | | | | | |
a ] 10 15 20 25 a0 35 40
--- Analytical
(d) Blocking Ratio =60%, 5=13.9 — Experimental
20r

_ED | | | | | | | |
a ] 10 15 20 2 30 35 40
--- Analytical
(e} Blocking Ratio = 80%, =253 —— Esxpetimental
20r

] 10 15 2:] 25
Time(sec)

B 3.10(d) | ¢ kT &8 VILCD 2 -k trijeif =45 fr i

(EZ =11+ §=031)
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---- Analytical

{a) Blocking Ratio = 0%, 8=14.3 —— Experimental
5 L
'5 C | | | | | | | |
a ] 10 15 20 25 30 35 40
---- Analytical
(b) Blocking Ratio = 20%, =141 —— Experimental

---- Analytical
(c) Blocking Ratio = 40%, =145 —— Experimental

Slushing displacement Xf(cm)

. . - Analytical
(d) Blocking Ratio = 60%, 5=17 .4 —— Experimental
5 L
a
'5 C | | | | | | |
a ] 10 15 20 2 30 35 40
_ _ ---- Analytical
(e) Blocking Ratio = 80%, §=23.4 —— Expetimental
5 L
oAV
'5 C | | | | | | | |
a ] 10 15 20 25 a0 35 40

Time(sec)

B 3.10(e) /| ¢ < kT & VILCD 2 -k g if =4 fr ph
(#F =14 8=031)
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Slushing displacement Xf(cm)

F b O R b

BRhd O R

B RO R

A RIO R =

---- Analytical
—— Experimental

(g) Blocking Ratio = 0%, 8=62.8

- Analytical
— Experimental

---- Analytical
(£) Blocking Ratio = 40%, &=56.5 S E}{peyrimental

"~ Analytical
(d) Blocking Ratio = B0%, 6=64.8 | E:;é"rimmal
I 1 1 1 1 1 1 1 ]
0 5 10 15 20 25 30 3% a0
-~ Analytical
(e) Blocking Ratio = 80%, =765 | E:;é"rimmal
i 1 1 1 1 1 1 1 ]
0 5 10 15 S a0

Time(sec)

B 3.11(a) + ¢ kT i&d VILCD 2 -k trigcif =4 frpF
(45 %14 =0.6 > £=0.31)
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Slushing displacement Xf(cm)

---- Analytical
— Experimental

(@) Blocking Ratio = 0%, 8=13.7

---- Analytical
(b} Blocking Ratio = 20%, 8=13.1 — Experimental

---- Analytical
(c) Blocking Ratio = 40%, 8=14.7 —— Experimental

---- Analytical
— Experimental

---- Analytical
(e) Blocking Ratio = 80%, 8=286 S E}{pgrimemm

10F
s—— AV
10 -

0 5 10 15 20 25 30 35 40
Time(sec)

B 3.11(b) * © < -kTiE# VILCD 2 -k e if =4 frps
(45 %14=0.9 » £=0.31)
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---- Analytical

(&) Blocking Ratio = 0%, 6=5.0 — Experimental

--- Analytical

(b} Blocking Ratio = 20%, 8=8.b — Euxperimental

20+
0

'2[' C 1 1 | | | | |
a 5 10 15 20 25 30 35 40
---- Analytical

(c) Blocking Ratio = 40%, §=9.6 — Experimental

Slushing displacement Xf(cm)

---- Analytical
(d) Elocking Ratio = 60%, 5=11.5 —— Experimental
20+
o—— WY
'2I:I C | | | | | | | |
a ] 10 15 20 2 30 35 40
_ _ . --- Analytical
(e) Blocking Ratio = 80%, 8=24.8 —— Expetimental
20+
o AV
'2|:| C | | | | | | | |
a ] 10 15 20 25 30 35 40

Time(sec)

B 3.11(c) + ¢ kT i&d VILCD 2 -k trigcif =4 frpF
(B F 1 =1.0 £=031)
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20

-20

20

-20

Slushing displacement Xf(cm)

20

-20

20

=20

a) Blocking Ratio = 0%, 6=7.9
(&) g

---- Analytical
— Experimental

10 15 20 25 30 35 40
---- Analytical

(b) Blocking Ratio = 20%, &=8.0 —— Experimental
10 15 20 25 30 35 40
--- Analytical

(c) Blacking Ratio = 40%, 5=8.9 = S EuCE]
10 15 20 25 30 35 40
--- Analytical

(d) Blocking Ratio = 60%, 8=10.7 —— Expetimental
10 15 20 25 30 35 40
_ _ ---- Analytical

(e) Blocking Ratio = 80%, =24 2 —— Expetimental

15 E:II 25
Time(sec)

B 3.11(d) * © < -kTiE# VILCD 2 -k e if =4 frps

(EZ =11+ B=031)
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Slushing displacement Xf(cm)

-10

-10

10

-10

-10
a

(@) Blocking Ratio =0%, 8=11.4

--- Analytical
— Experimental

101
a
_1|:| | | | | | | | |
a ] 10 15 20 25 a0 35 40
--- Analytical
(b} Blocking Ratio = 20%, 8=11.5 — Experimental
10

--- Analytical
— Experimental

--- Analytical
— Experimental

(e) Blocking Ratio = 80%, 5=25.4

---- Analytical
— Experimental

B 3.11(e) = % -

(4

14

fi«:

12

|
20 25

Time(sec)

L

1.4+ 8=031)
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Slushing displacement Xf(cm)

2 1 1 1

(@) Blocking Ratio = 0%, 8=116.3

---- Analytical
— Experimental

2
a
_2 | | | | | | | |
o 5 10 15 20 25 30 35 40
: : ---- Analytical
(b) Blocking Ratio = 20%, 8=74.0 —— Expefimental
2 —

_2 1 1 1 1 1 1 1 |
o 5 10 15 20 25 a0 35 40
_ _ ---- Analytical
(c) Blocking Ratio = 40%, 8=83.3 —— Experimental
2

---- Analytical
— Experimental

(e} Blocking Ratio = 80%, &=128.9

---- Analytical
— Experimental

0 ] 10 15 2:] 25
Time(sec)

B 3.12(a) -} & < kT & VILCD 2 -k Higeif =45 fr i

(F &1+ =0.6 © $=0.6)
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Slushing displacement Xf(cm)

n
T

---- Analytical
(7) Blocking Ratio = 0%, &=15.0 - E}{pgﬂmemm

---- Analytical
(b} Blocking Ratio = 20%, 5=14.9 —— Experimental

---- Analytical
(£) Blocking Ratio = 40%, 8=17 B —— Experimental

--- Analytical
—— Experimental

: : ---- Analytical
(e} Blocking Ratio = 80%, 5=53.8 — Esxperimental
5 -
S AAAVVVAAAAANY
| | | | | | | |
a ] 10 15 20 25 a0 35 40

Time(sec)

B 3.12(b) | ¢ < kT iE# VTLCD 2 -k $Lijcif =4 fr i
(5 21 =09 » 5=0.6)
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Slushing displacement Xf(cm)

10

-10

10

-10

10

-10

a) Blocking Ratio = 0%, 6=7.5
(&) g

---- Analytical
— Experimental

---- Analytical
— Experimental

(c) Blocking Ratio = 40%, &=9.5

---- Analytical
— Experimental

_ _ - Analytical
(d) Blacking Ratio = B0%, 8=14.2 —— Experimental
L | | | | | | |
10 14 20 25 30 35 40
_ _ - Analytical
= g =
(e) Blocking Ratio =80%, 8=38.9 — Experimental
L 1 1 L L ! L :
10 14 20 24 30 34 40
Time(sec)

B 3.12(c) -} & < kT & VILCD 2 -k Higeif =45 fr i

(FEZ =10 £=0.6)
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Slushing displacement Xf(cm)

a) Blocking Ratio = 0%, 6=5.4
(&) g

---- Analytical
— Experimental

10 F
1]
-10¢ 1 1 1 1 1 1
0 5 10 15 20 25 30 35 40
---- Analytical

— Experimental

10F ,
a
A0k

---- Analytical
— Experimental

10F
WY
10 F

Time(sec)

a ] 10 15 20 25 a0 35 40
--- Analytical
(d) Blocking Ratio = B60%, 5=12.4 — Experimental
10F
o—— WWWWWWWW
-1|:| L | | | | | | | |
a 5 10 15 20 25 30 35 40
--- Analytical
(e) Blocking Ratio =80%, 5=35.4 —— Experimental
10F
o —— AN
-10F L L L L L L L I
a 5 10 15 20 25 a0 35 40

B 3.12(d) -} & < kT &8 VILCD 2 -k trifeif =45 fr i

S =1.1> 8=0.6)
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Slushing displacement Xf(cm)

a)] Blocking Ratio = 0%, 6=8.0
(a) g

---- Analytical
— Experimental

a

n
'5 | | | | | | | |
a ] 10 15 20 25 30 35 40
---- Analytical

— Experimental

Time(sec)

'5 | | | | | | | |
0 ] 10 15 20 25 a0 35 40
---- Analytical
(c) Blocking Ratio = 40%, 5=9.2 — Experimental
5 -
'5 C | | | | | | | |
0 5 10 15 20 25 30 35 40
) _ ---- Analytical
{d) Blocking Ratio = B0%, 3=16.4 —— Experimental
5
0
'5 | | | | | | | |
0 ] 10 15 20 25 a0 35 40
) _ ---- Analytical
(e) Blocking Ratio = B80%, &=41.2 —— Experimental
5k
o F——AMMAWMAMAAAMMANY
'5 C | | | | | | | |
0 ] 10 15 20 25 a0 35 40

B 3.12(e) -} & < kT & VILCD 2 -k Higeif =45 fr &

(S =14 5=0.6)
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Slushing displacement Xf(cm)

Eb) O R

BRI OR &=

ERrd O R

(g) Blocking Ratio = 0%, 8=20.5

---- Analytical
— Experimental

---- Analytical
— Experimental

---- Analytical
— Experimental

(d) Blacking Ratia = B0%, 5=32.8
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